

Higher Order Degenerate Hermite-Bernoulli Polynomials Arising from p -Adic Integrals on \mathbb{Z}_p

Waseem A. Khan^a, Hiba Haroon^{b*}

^aDepartment of Mathematics and Natural Sciences, Prince Mohammad Bin
Fahd University, Al Khobar 31952, Saudi Arabia

^bDepartment of Mathematics, Faculty of Science,
Integral University-226026, Lucknow, India

E-mail: wkhan1@pmu.edu.sa

E-mail: hibaharoon786@gmail.com

ABSTRACT. Our principal interest in this paper is to study higher order degenerate Hermite-Bernoulli polynomials arising from multivariate p -adic invariant integrals on \mathbb{Z}_p . We give interesting identities and properties of these polynomials that are derived using the generating functions and p -adic integral equations. Several familiar and new results are shown to follow as special cases. Some symmetry identities are also established.

Keywords: Multivariate p -adic invariant integral on \mathbb{Z}_p , Degenerate Bernoulli polynomials, Hermite polynomials.

2000 Mathematics subject classification: 11S80, 11S23, 33C45.

1. INTRODUCTION

For a fixed number p (odd and prime), we consider the following notations:
 $\mathbb{Z}_p \rightarrow$ ring of p -adic integers.
 $\mathbb{Q}_p \rightarrow$ field of p -adic rational numbers.

*Corresponding Author

$\mathbb{C}_p \rightarrow$ completion of algebraic closure of \mathbb{Q}_p .

And let

$$\mathbb{H} = \left\{ \lambda, t \in \mathbb{C}_p \mid |\lambda t|_p < p^{\frac{-1}{p-1}} \right\}. \quad (1.1)$$

Let v_p be the normalized exponential valuation of \mathbb{C}_p with $|p|_p = p^{-v_p(p)} = \frac{1}{p}$. Suppose $UD(\mathbb{Z}_p)$ be the space of all uniformly differentiable functions on \mathbb{Z}_p , then f is said to be uniformly differentiable function at a point $a \in \mathbb{Z}_p$, if the difference quotient

$$\mathfrak{F}_f(u, w) = \frac{f(u) - f(w)}{u - w},$$

has a limit $l = f'(a)$ as $(u, w) \rightarrow (a, a)$, (see [13, 18]). We begin with the Riemann sums for f given by the expression

$$\frac{1}{p^N} \sum_{0 \leq i < p^N} f(i) = \sum_{0 \leq i < p^N} f(i) \mu(i + p^N \mathbb{Z}_p); \quad (N \in \mathbb{N}), \quad (1.2)$$

which converges to a limit in \mathbb{Z}_p , denoted by

$$\int_{\mathbb{Z}_p} f(y) d\mu_0(y), \text{ (see [2]).}$$

In (1.2), μ denotes the p -adic Haar measure defined as:

Definition 1.1. (see [24]) Let $B(\mathbb{Q}_p)$ be the σ -algebra generated by the family of open subsets of (\mathbb{Q}_p) . A *Haar measure* on (\mathbb{Q}_p) is a measure defined by $B(\mathbb{Q}_p)$ with the following properties.

- (i). $\mu \neq 0$,
- (ii). $\mu(K) < \infty$ for all compact subset K of (\mathbb{Q}_p) ,
- (iii). $\mu(a + M) = \mu(M)$ for all $a \in \mathbb{Q}_p$ and all $M \in B(\mathbb{Q}_p)$.

For $f \in \bigcup D(\mathbb{Z}_p)$, the p -adic invariant integral on \mathbb{Z}_p is defined as (see [6, 7, 9-21]):

$$I_0(f) = \int_{\mathbb{Z}_p} f(y) d\mu_0(y) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{j=0}^{p^N-1} f(j). \quad (1.3)$$

If $f_n(y) = f(y + n)$, then for $n = 1$, from (1.3), we get:

$$I_0(f_1) = I_0(f) + f'(0), \text{ (see [13, 15]).} \quad (1.4)$$

Here, $f'(0)$ refers to the differential coefficient $\frac{d}{dy} f(y)$ at $y = 0$ and $f_1 = f(y + 1)$.

Bernoulli polynomials, named after *Jacob Bernoulli*, occur as a fundamental study for several special functions in mathematics. The exponential generating function for *Bernoulli polynomials* [1-23] is given as

$$\left(\frac{t}{e^t - 1} \right) e^{xt} = \sum_{l \geq 0} B_l(x) \frac{t^l}{l!}. \quad (1.5)$$

Using Taylor's formula for polynomials, we conclude that

$B_l(x+y) = \sum_{k=0}^l \binom{l}{k} B_{l-k}(y)x^k$, which on substituting $y = 0$ gives Bernoulli polynomials as a sequence of Bernoulli numbers:

$$B_l(x) = \sum_{k=0}^l \binom{l}{k} B_{l-k} x^k. \quad (1.6)$$

Several generalized members belonging to the family of Bernoulli polynomials are well defined by many authors. For Example see Table 1:

S.No.	Members of Bernoulli polynomials	Generating function and series definition
1	Degenerate Bernoulli polynomials [23]	$\frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}-1}} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{l=0}^{\infty} B_l(x \lambda) \frac{t^l}{l!}$
2	Higher order Bernoulli polynomials[15, 17]	$(\frac{t}{e^t-1})^m e^{xt} = \sum_{l=0}^{\infty} B_l^{(m)}(x) \frac{t^l}{l!}$
3	Higher order Degenerate Bernoulli polynomials [14]	$\left(\frac{\log(1+\lambda t)}{(1+\lambda t)^{\frac{1}{\lambda}-1}}\right)^m (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} B_n^{(m)}(x \lambda) \frac{t^n}{n!}$
4	Generalized Bernoulli polynomials [11]	$\frac{t \sum_{i=0}^{d-1} \chi(i) e^{it}}{e^{dt}-1} e^{xt} = \sum_{l=0}^{\infty} B_{l,\chi}(x) \frac{t^l}{l!}$
5	Generalized Degenerate Bernoulli polynomials [11]	$\frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}-1}} \sum_{i=0}^{a-1} \chi(i) (1+\lambda t)^{\frac{i+x}{\lambda}} = \sum_{l=0}^{\infty} B_{l,\lambda,\chi}(x) \frac{t^l}{l!}$
6	Carlitz's type Bernoulli polynomials [4, 19]	$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}-1}} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{l=0}^{\infty} \beta_l(x, \lambda) \frac{t^l}{l!}$
7	q -Bernoulli polynomials [3, 21]	$\frac{t+\log q}{qe^t-1} e^{xt} = \sum_{l=0}^{\infty} B_{l,q}(x) \frac{t^l}{l!}$

TABLE 1. Some generalized members of Bernoulli polynomials.

Note that, for $x = 0$ in the generating functions (1-7, cf. Table 1), the corresponding Bernoulli numbers are obtained, (see [1-23]).

Applying (1.4) with $f(x) = e^{(x+y)t}$, we get the p -adic integral representation of the generating function for the *Bernoulli polynomials* $B_n(x)$ defined by Kim [10-18]:

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t-1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (1.7)$$

where $B_n = B_n(0)$ are the *Bernoulli numbers*.

The *degenerate Bernoulli polynomials* $B_n(x|\lambda)$ are defined in [10, 19] as:

$$\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+y}{\lambda}} d\mu_0(y) = \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}-1}} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{l=0}^{\infty} B_l(x|\lambda) \frac{t^l}{l!}, (t \in \mathbb{H}) \quad (1.8)$$

One must remember that these degenerate Bernoulli polynomials $B_n(x|\lambda)$ are different from the Carlitz's degenerate Bernoulli polynomials $\beta_n(x|\lambda)$. Indeed,

$$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{l=0}^{\infty} \beta_l(x|\lambda) \frac{t^l}{l!}, \text{ (see [4])} \quad (1.9)$$

with $\beta_l(\lambda) = \beta_l(0|\lambda)$, However,

$$\lim_{\lambda \rightarrow 0} B_n(x|\lambda) = \lim_{\lambda \rightarrow 0} \beta_n(x|\lambda) = B_n(x),$$

where $B_n(x)$ are ordinary Bernoulli polynomials.

Now, comparing (1.8) and (1.9), we have

$$\sum_{l=0}^{\infty} B_l(x|\lambda) \frac{t^l}{l!} = \frac{\log(1+\lambda t)}{\lambda t} \sum_{l=0}^{\infty} \beta_l(x|\lambda) \frac{t^l}{l!}. \quad (1.10)$$

For $m \in \mathbb{N}$, we note that (see [12, 17]):

$$\begin{aligned} & \underbrace{\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p}}_{m\text{-times}} (1+\lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} d\mu_0(x_1) d\mu_0(x_2) \dots d\mu_0(x_m) \\ &= \left(\frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^m (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{l=0}^{\infty} B_l^{(m)}(x|\lambda) \frac{t^l}{l!}, \end{aligned} \quad (1.11)$$

where $B_l^{(m)}(x|\lambda)$ are the *degenerate Bernoulli polynomials of order m* and $B_l^{(m)}(\lambda) = B_l^{(m)}(0|\lambda)$ are the *degenerate Bernoulli numbers of order m* .

The *Stirling numbers of the first kind* are defined as (see [21]):

$$(x)_n = \prod_{j=0}^{n-1} (x-j) = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 0). \quad (1.12)$$

In light of (1.12), the *degenerate Stirling numbers of the first kind* are defined by Kim [17]:

$$(x)_{n,\lambda} = \sum_{l=0}^n S_1(n, l|\lambda) (x)^l, \quad (n \geq 0). \quad (1.13)$$

We observe that

$$\begin{aligned} (1+\lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} &= \sum_{k=0}^{\infty} \binom{\frac{1}{\lambda}(x+x_1+\dots+x_m)}{k} \lambda^k t^k \\ &= \sum_{k=0}^{\infty} \lambda^k \binom{x+x_1+\dots+x_m}{\lambda}_k \frac{t^k}{k!} \\ &= \sum_{k=0}^{\infty} (x+x_1+\dots+x_m)(x+x_1+\dots+x_m-\lambda)\dots(x+x_1+\dots+x_m-(k-1)\lambda) \frac{t^k}{k!} \end{aligned} \quad (1.14)$$

$$= \sum_{k=0}^{\infty} (x + x_1 + \cdots + x_m)_{k,\lambda} \frac{t^k}{k!}.$$

where the *degenerate falling factorial sequence* is defined as

$$(x)_{k,\lambda} = \begin{cases} x(x-\lambda) \cdots (x-(k-1)\lambda) & ; k \geq 1 \\ 1 & ; k = 0 \end{cases}$$

Thus, we indeed can write

$$(x + x_1 + \cdots + x_m)_{k,\lambda} = \sum_{l=0}^k S_1(k, l|\lambda) (x + x_1 + \cdots + x_m)^l, \quad (\text{see [13]}). \quad (1.15)$$

With the viewpoint of the deformed Bernoulli polynomials, the *Daehee polynomials* $D_n(x)$ ($i \geq 0$) of the first kind are defined as

$$\int_{\mathbb{Z}_p} (1+t)^{x+x_1} d\mu_0(x_1) = \frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \quad (\text{see [15]}) \quad (1.16).$$

For $x = 0$, $D_n = D_n(0)$ are called the *Daehee numbers*.

For $r \in \mathbb{N}$ the *Bernoulli polynomials of the second kind of order r* are defined by Jang et. al. [7]:

$$\left(\frac{t}{\log(1+t)} \right)^r (1+t)^x = \sum_{n=0}^{\infty} b_n^{(r)}(x) \frac{t^n}{n!}, \quad (1.17)$$

where $b_n^{(r)} = b_n^{(r)}(0)$ are the *higher order Bernoulli numbers of the second kind*.

In 2016, Khan [8] introduced the *degenerate Hermite polynomials* defined by means of the following generating function

$$(1+\lambda t)^{x/\lambda} (1+\lambda t^2)^{y/\lambda} = \sum_{n=0}^{\infty} H_n(x, y; \lambda) \frac{t^n}{n!}. \quad (1.18)$$

where for $\lambda \rightarrow 0$, $H_n(x, y; \lambda)$ reduces to the 2-variable Kampe de Fariet Hermite polynomials $H_n(x, y)$ (read [1, 5]).

Very recently, Haroon and Khan [6] studied the p -adic integrals for the *degenerate Hermite Bernoulli polynomials* ${}_H B_n(x, y|\lambda)$:

$$\begin{aligned} \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) &= \frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} (1+\lambda t)^{\frac{x}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \sum_{l=0}^{\infty} {}_H B_l(x, y|\lambda) \frac{t^l}{l!}, \end{aligned} \quad (1.19)$$

where, $\lambda, t \in \mathbb{H}$.

The current note is prepared with an objective to study higher order versions of degenerate Hermite Bernoulli polynomials ${}_HB_n^{(m)}(x, y|\lambda)$ arising from multivariate p -adic invariant integrals on \mathbb{Z}_p . In the upcoming sections we investigate the generating function and the p -adic integral expression for degenerate Hermite Bernoulli polynomials of order m to establish some combinatorial properties, explicit expressions and symmetry identities. The results are new and contribute to a number of special cases.

2. HERMITE BASED DEGENERATE BERNOULLI POLYNOMIALS OF ORDER m ARISING FROM p -ADIC INTEGRALS

The construction of p -adic measures is done mainly to integrate functions. In this section, we derive the generating function for Hermite based degenerate Bernoulli polynomials of order m by using the intimate connection of Bernoulli numbers and polynomials with p -adic measures. We assume that $\lambda \neq 0$ and $\lambda, t \in \mathbb{H}$.

We define the *Hermite based degenerate Bernoulli polynomials of order m* in terms of multivariate p -adic invariant integrals on \mathbb{Z}_p as:

$$\begin{aligned} & \underbrace{\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p}}_{m\text{-times}} (1 + \lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m) \\ &= \left(\frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} = \sum_{n=0}^{\infty} {}_HB_n^{(m)}(x, y|\lambda) \frac{t^n}{n!}. \end{aligned} \quad (2.1)$$

For $x = y = 0$, ${}_HB_n^{(m)} = {}_HB_n^{(m)}(0, 0|\lambda)$ are called the *degenerate Hermite-Bernoulli numbers of order m* .

Theorem 2.1. For $m \geq 1$ and $n \geq 0$, we state

$$\begin{aligned} {}_HB_n^{(m)}(x, y|\lambda) &= \sum_{j=0}^{n-2k} S_1(n-2k, j|\lambda) \int_{\mathbb{Z}_p^m} (x + x_1 + \dots + x_m)^j \prod_{i=1}^m d\mu_0(x_i) \\ &= \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \left(\frac{y}{\lambda} \right)_k \lambda^k \sum_{l=0}^{n-2k} S_1(n-2k, l|\lambda) B_j^{(m)}(x) \frac{n!}{k!(n-2k)!} \end{aligned} \quad (2.2)$$

where

$$\int_{\mathbb{Z}_p^m} f(x_1 + \dots + x_m) \prod_{i=1}^m d\mu_0(x_i) = \underbrace{\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p}}_{m\text{-times}} f(x_1 + \dots + x_m) d\mu_0(x_1) \dots d\mu_0(x_m).$$

Proof. From (2.1), we observe

$$\sum_{n=0}^{\infty} {}_H B_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m) \quad (2.3)$$

$$= (1+\lambda t^2)^{\frac{y}{\lambda}} \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (x+x_1+\dots+x_m)_{n,\lambda} d\mu_0(x_1) \dots d\mu_0(x_m) \frac{t^n}{n!},$$

which on using (1.15), looks like

$$= (1+\lambda t^2)^{\frac{y}{\lambda}} \sum_{n=0}^{\infty} \sum_{j=0}^n S_1(n, j|\lambda) \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (x+x_1+\dots+x_m)^j d\mu_0(x_1) \dots d\mu_0(x_m) \frac{t^n}{n!}. \quad (2.4)$$

$$= \left[\sum_{k=0}^{\infty} \left(\frac{y}{\lambda} \right)_k \lambda^k \frac{t^{2k}}{k!} \right] \left[\sum_{n=0}^{\infty} \sum_{j=0}^n S_1(n, j|\lambda) \int_{\mathbb{Z}_p^m} (x+x_1+\dots+x_m)^j \prod_{i=1}^m d\mu_0(x_i) \frac{t^n}{n!} \right] \quad (2.5)$$

From [15, 16], we know that

$$\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (x+x_1+\dots+x_m)^n d\mu_0(x_1) \dots d\mu_0(x_m) = B_n^{(m)}(x), \quad (2.6)$$

where $B_n^{(m)}(x)$ are the *Bernoulli polynomials of order m* . Therefore, from (2.5) and (2.6), we get

$$\sum_{n=0}^{\infty} {}_H B_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} = \left[\sum_{i=0}^{\infty} \left(\frac{y}{\lambda} \right)_i \lambda^i \frac{t^{2i}}{i!} \right] \left[\sum_{n=0}^{\infty} \sum_{j=0}^n S_1(n, j|\lambda) B_j^{(m)}(x) \frac{t^n}{n!} \right]. \quad (2.7)$$

Comparing the coefficients of $\frac{t^n}{n!}$ in (2.1), (2.5) and (2.7), we get the expected result of the Theorem 2.1. \square

Remark 2.2. Putting $m = 1$ in (2.2), we get the following result for degenerate Hermite Bernoulli polynomials of order 1 [cf. 6(Theorem 1)].

Corollary 2.3. For $n \geq 0$, we have

$${}_H B_n(x, y|\lambda) = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \left(\frac{y}{\lambda} \right)_k \lambda^{n-k-j} \sum_{j=0}^{n-2k} S_1(n-2k, j) B_j(x) \frac{n!}{k!(n-2k)!}.$$

Theorem 2.4. For $m \geq 1$ and $n \geq 0$, we state

$${}_H B_n^{(m)}(x, y|\lambda) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \int_{\mathbb{Z}_p^m} \lambda^r \left(\frac{y}{\lambda} \right)_r \frac{(x+x_1+\dots+x_m)_{n-2r,\lambda}}{(n-2r)!r!} \prod_{i=1}^m d\mu_0(x_i)$$

$$= \sum_{j=0}^n \binom{n}{j} \frac{S_1(j+m, m)}{\binom{j+m}{m}} \lambda^j {}_H\beta_{n-j}^{(m)}(x, y|\lambda), \quad (2.8)$$

where, ${}_H\beta_n^{(m)}(x, y|\lambda)$ are called the Carlitz's degenerate Hermite-Bernoulli polynomials of order m .

Proof. Using (1.14) in the integral (2.1), we get

$$\begin{aligned} \sum_{n=0}^{\infty} {}_HB_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p^m} \lambda^n \left(\frac{x + x_1 + \cdots + x_m}{\lambda} \right)_n (1 + \lambda t^2)^{\frac{y}{\lambda}} \prod_{i=0}^m d\mu_0(x_i) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p^m} (x + x_1 + \cdots + x_m)_{n, \lambda} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \cdots d\mu_0(x_m) \frac{t^n}{n!} \\ &= n! \sum_{n=0}^{\infty} \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \int_{\mathbb{Z}_p^m} \lambda^r \left(\frac{y}{\lambda} \right)_r \frac{(x + x_1 + \cdots + x_m)_{n-2r, \lambda}}{(n-2r)! r!} d\mu_0(x_1) \cdots d\mu_0(x_m) \frac{t^n}{n!}. \end{aligned} \quad (2.9)$$

Again from (2.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} {}_HB_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} &= \left(\frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^m \left(\frac{\log(1 + \lambda t)}{\lambda t} \right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}}. \end{aligned} \quad (2.10)$$

We can write

$$\begin{aligned} \left(\frac{\log(1 + \lambda t)}{\lambda t} \right)^m &= m! \sum_{j=0}^{\infty} \frac{S_1(j+m, m) j! \lambda^j}{(j+m)!} \frac{t^j}{j!}, \\ &= \sum_{j=0}^{\infty} \frac{S_1(j+m, m)}{\binom{j+m}{j}} \lambda^j \frac{t^j}{j!}. \end{aligned} \quad (2.11)$$

By (1.10) and (2.11) we get

$$\sum_{n=0}^{\infty} {}_HB_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} = \left[\sum_{n=0}^{\infty} {}_H\beta_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} \right] \left[\sum_{j=0}^{\infty} \frac{S_1(j+m, m)}{\binom{j+m}{j}} \lambda^j \frac{t^j}{j!} \right]. \quad (2.12)$$

Finally, we conclude the proof of our assertion by comparing the coefficients of t^n in (2.9) and (2.12). □

Theorem 2.5. For $m \geq 1$ and $n \geq 0$, we state

$${}_HB_n^{(m)}(x, y|\lambda) = \sum_{j=0}^n \binom{n}{j} \lambda^{n-j} D_{n-j}^{(m)} {}_H\beta_j^{(m)}(x, y|\lambda). \quad (2.13)$$

where $D_j^{(m)}$ are the higher order Daehee numbers (see [20]).

Proof. From (2.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} {}_H B_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1+\cdots+x_m}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \prod_{i=0}^m d\mu_i(x_m) \\ &= \left(\frac{\log(1 + \lambda t)}{\lambda t} \right)^m \left(\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}}. \end{aligned}$$

By (1.16), we define

$$\begin{aligned} &\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{x_1+\cdots+x_m} d\mu_0(x_1) \cdots d\mu_0(x_m) \\ &= \left(\frac{\log(1 + \lambda t)}{\lambda t} \right)^m = \sum_{k=0}^{\infty} D_k^{(m)} \frac{\lambda^k t^k}{k!}, \quad (m \in \mathbb{N}). \end{aligned} \quad (2.14)$$

Now by (2.14), we obtain

$$\sum_{n=0}^{\infty} {}_H B_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} = \left[\sum_{n=0}^{\infty} D_k^{(m)} \frac{(\lambda t)^n}{n!} \right] \left[\sum_{j=0}^{\infty} {}_H \beta_j^{(m)}(x, y|\lambda) \frac{t^j}{j!} \right],$$

which on using Cauchy product gives

$$\sum_{n=0}^{\infty} {}_H B_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left[\sum_{j=0}^n \binom{n}{j} \lambda^{n-j} D_{n-j}^{(m)} {}_H \beta_j^{(m)}(x, y|\lambda) \right] \frac{t^n}{n!}.$$

Comparing the coefficients of t^n yields the asserted result in (2.13). \square

Remark 2.6. With an immediate substitution $y = 0$ in Theorems 2.1, 2.4 and 2.5, we get the formally proved result of Kim [15, (Theorem 1)].

Corollary 2.7. *For $n \geq 0$, we have*

$$\begin{aligned} \int_{\mathbb{Z}_p^m} (x + x_1 + \cdots + x_m)_{n,\lambda} d\mu_0(x_1) \cdots d\mu_0(x_m) &= \sum_{j=0}^n \binom{n}{j} \lambda^{n-j} \beta_j^{(m)}(x|\lambda) D_{n-j}^{(m)} \\ &= \sum_{j=0}^n \binom{n}{j} \frac{S_1(j + m, m)}{\binom{j+m}{m}} \lambda^j \beta_{n-j}^{(m)}(x|\lambda). \end{aligned}$$

Theorem 2.8. *For $m \geq 1$ and $n \geq 0$, we state*

$$\begin{aligned} {}_H \beta_n^{(m)}(x, y|\lambda) &= \sum_{k=0}^n \binom{n}{k} b_{n-k}^{(m)} \lambda^n \int_{\mathbb{Z}_p^m} \left(\frac{x + x_1 + \cdots + x_m}{\lambda} \right)_k (1 + \lambda t^2)^{\frac{y}{\lambda}} \prod_{i=0}^m d\mu_0(x_i) \\ &= \sum_{k=0}^n \binom{n}{k} b_k^{(m)} \lambda^k {}_H B_{n-k}^{(m)}(x, y|\lambda). \end{aligned} \quad (2.15)$$

Proof. From (2.1), we consider the expression

$$\left(\frac{\lambda t}{\log(1 + \lambda t)}\right)^m \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m) \quad (2.16)$$

$$\begin{aligned} &= \left(\frac{\lambda t}{\log(1 + \lambda t)}\right)^m \left(\frac{\log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1}\right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} \\ &= \left(\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1}\right)^m (1 + \lambda t)^{\frac{x}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} = \sum_{n=0}^{\infty} {}_H\beta_n^{(m)}(x, y|\lambda) \frac{t^n}{n!}. \end{aligned} \quad (2.17)$$

By (1.17), we define

$$\left(\frac{\lambda t}{\ln(1 + \lambda t)}\right)^m = \sum_{n=0}^{\infty} b_n^{(m)}(\lambda t)^n, \quad (2.18)$$

which is the λ -analogue of higher order Bernoulli numbers $b_n^{(m)}$ of the second kind.

By (2.16) and (2.18), we get

$$= \left[\sum_{k=0}^{\infty} b_k^{(m)} \lambda^k \frac{t^k}{k!} \right] \left[\sum_{n=0}^{\infty} \lambda^n \int_{\mathbb{Z}_p^m} \left(\frac{x + x_1 + \dots + x_m}{\lambda} \right)_n (1 + \lambda t^2)^{\frac{y}{\lambda}} \prod_{i=0}^m d\mu_0(x_i) \frac{t^n}{n!} \right] \quad (2.19)$$

$$= \left[\sum_{k=0}^{\infty} b_k^{(m)} \lambda^k \frac{t^k}{k!} \right] \left[\sum_{n=0}^{\infty} {}_HB_n^{(m)}(x, y|\lambda) \frac{t^n}{n!} \right]. \quad (2.20)$$

Now, comparing the coefficients of $\frac{t^n}{n!}$ in (2.17), (2.19) and (2.20), we obtain the required identities of the Theorem 2.8. \square

Remark 2.9. Replacing $m = 1$ in (2.15), we obtain the following corollary [6(Theorem 2.8)].

Corollary 2.10. For $n \geq 0$, we have

$${}_H\beta_n(x, y|\lambda) = \sum_{k=0}^n \binom{n}{k} b_k \lambda^k {}_HB_{n-k}(x, y|\lambda).$$

Remark 2.11. Further replacement $y = 0$ in (2.15), gives the following identity [16(Theorem 6)].

Corollary 2.12. *Let $m \geq 1$ and $n \geq 0$, then*

$$\beta_n^{(m)}(\lambda, x) = \sum_{k=0}^n \binom{n}{k} b_{n-k}^{(m)} \lambda^{n-k} \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (x_1 + \dots x_m + x | \lambda)_k d\mu_0(x_1) \dots d\mu_0(x_m).$$

Theorem 2.13. *For $m \geq 1$ and $n \geq 0$, we state*

$$\begin{aligned} {}_H B_n^{(m)}(x+w, y | \lambda) &= \sum_{k=0}^n \sum_{j=0}^k \binom{n}{k} \binom{k}{j} \beta_{n-k}^{(m)}(x | \lambda) H_{k-j}(w, y; \lambda) \\ &\quad \times \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (x_1 + x_2 + \dots x_m)_{j, \lambda} d\mu_0(x_1) \dots d\mu_0(x_m), \end{aligned} \quad (2.21)$$

where $H_k(x, y; \lambda)$ are degenerate Hermite polynomials (cf. (1.18)).

Proof. In the integral identity (2.1), we replace x by $x+w$,

$$\begin{aligned} &\sum_{n=0}^{\infty} {}_H B_n^{(m)}(x+w, y | \lambda) \frac{t^n}{n!} \\ &= \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x_1+\dots+x_m+x+w}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m) \quad (2.22) \\ &= \left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^m (1+\lambda t)^{\frac{x}{\lambda}} \left(\frac{\log(1+\lambda t)}{\lambda t} \right)^m (1+\lambda t)^{\frac{w}{\lambda}} (1+\lambda t^2)^{\frac{y}{\lambda}} \\ &= \left[\sum_{n=0}^{\infty} \beta_n^{(m)}(x | \lambda) \frac{t^n}{n!} \right] \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x_1+\dots+x_m}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m) \\ &\quad \times \left[\sum_{k=0}^{\infty} H_k(w, y; \lambda) \frac{t^k}{k!} \right], \\ &= \left[\sum_{n=0}^{\infty} \beta_n^{(m)}(x | \lambda) \frac{t^n}{n!} \right] \left[\sum_{k=0}^{\infty} \sum_{j=0}^k \binom{k}{j} H_{k-j}(x, y; \lambda) \right. \\ &\quad \left. \times \int_{\mathbb{Z}_p^m} (x_1 + \dots + x_m)_{j, \lambda} d\mu_0(x_1) \dots d\mu_0(x_m) \frac{t^k}{k!} \right]. \end{aligned} \quad (2.23)$$

An easy comparison of coefficients in (2.22) and (2.23) completes the proof. \square

Remark 2.14. Giving appropriate values to the parameters and the variables in (2.1), we obtain certain known polynomials as special cases of degenerate Hermite Bernoulli polynomials of order m . A systematic account of these special cases are mentioned in Table 2.

S.No.	Values of the parameters and variables	Name of the resultant polynomials	p -adic integral and series representation of the special cases
i	$m=1$	Degenerate Hermite-Bernoulli polynomials [6]	$\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1}{\lambda}} (1 + \lambda t^2)^{\frac{y}{\lambda}} d\mu_0(x_1)$ $= \sum_{n=0}^{\infty} {}_H B_n(x, y \lambda) \frac{t^n}{n!}$
ii	$m=1, y=0$	Degenerate Bernoulli polynomials [15, 16]	$\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{x+x_1}{\lambda}} d\mu_0(x_1)$ $= \sum_{n=0}^{\infty} B_n(x \lambda) \frac{t^n}{n!}$
iii	$y=0$	Higher order Degenerate Bernoulli polynomials [14, 19]	$\int_{\mathbb{Z}_p^m} (1 + \lambda t)^{\frac{x+x_1+\dots+x_m}{\lambda}} d\mu_0(x_1) \dots d\mu_0(x_m)$ $= \sum_{n=0}^{\infty} B_n^{(m)}(x \lambda) \frac{t^n}{n!}$
iv	$m=1, y=0, \lambda \rightarrow 0$	General Bernoulli polynomials [9]	$\int_{\mathbb{Z}_p} e^{(x+x_1)t} d\mu_0(x_1)$ $= \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}$
v	$\lambda \rightarrow 0, y=0$	Higher order Bernoulli polynomials [18, 20]	$\int_{\mathbb{Z}_p^m} e^{(x+x_1+\dots+x_m)t} d\mu_0(x_1) \dots d\mu_0(x_m)$ $= \sum_{n=0}^{\infty} B_n^{(m)}(x) \frac{t^n}{n!}$
vi	$m=1, \lambda=1, y=0$	Daehee polynomials [17]	$\int_{\mathbb{Z}_p} (1+t)^{x+x_1} d\mu_0(x_1)$ $= \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}$
vii	$\lambda=1, y=0$	Higher order Daehee polynomials [20]	$\int_{\mathbb{Z}_p^m} (1+t)^{(x+x_1+\dots+x_m)} d\mu_0(x_1) \dots d\mu_0(x_m)$ $= \sum_{n=0}^{\infty} D_n^{(m)}(x) \frac{t^n}{n!}$

TABLE 2

3. SOME SYMMETRY IDENTITIES INVOLVING p -ADIC INTEGRALS FOR THE DEGENERATE HERMITE-BERNOULLI POLYNOMIALS OF ORDER m

In this section, we consider the *quotient of integrals* $T(x)$ which on applying (1.4) can be expressed as the generating function for the integer power sums (cf. (3.4)). Further we establish symmetry identities involving these quotient of integrals and the p -adic integral expression of the generating function for the degenerate Hermite-Bernoulli polynomials of order m .

The *sum of integer powers* [22] $S_k(n), k \in \mathbb{N}_0$ is defined by

$$S_k(n) = \sum_{j=0}^n j^k = 0^k + 1^k + \dots + n^k, \quad (3.1)$$

where,

$$S_k(0) = 1.$$

We define

$$S_k(n|\lambda) = \sum_{j=0}^n (j|\lambda)_k, \text{ (see [16])} \quad (3.2)$$

where $(x|\lambda)_n = x(x-\lambda)\dots(x-(n-1)\lambda)$ is the generalized falling factorial sequence for non-negative integer n .

We consider the quotient of integrals

$$\begin{aligned} T(x) &= \frac{l \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x}{\lambda}} d\mu_0(x)}{\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{l x}{\lambda}} d\mu_0(x)} = \frac{\lambda}{\log(1+\lambda t)} \\ &\times \left[\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+l}{\lambda}} d\mu_0(x) - \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x}{\lambda}} d\mu_0(x) \right] \\ &= \sum_{k=0}^{l-1} (1+\lambda t)^{\frac{k}{\lambda}} = \sum_{s=0}^{\infty} \left[\sum_{k=0}^{l-1} \left(\frac{k}{\lambda} \right)_s \lambda^s \right] \frac{t^s}{s!}. \end{aligned} \quad (3.3)$$

Thus, for $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$, from (3.2) and (3.3) we obtain the identity

$$\begin{aligned} \frac{\mathfrak{h}_1 \mathfrak{h}_2 \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x}{\lambda}} d\mu_0(x)}{\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2 x}{\lambda}} d\mu_0(x)} &= \frac{(1+\lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2 - 1}{\lambda}}}{(1+\lambda t)^{\frac{\mathfrak{h}_2 - 1}{\lambda}}} \\ &= \sum_{k=0}^{\infty} S_k \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) \frac{(\mathfrak{h}_2 t)^k}{k!}, \text{ (see [16])} \end{aligned} \quad (3.4)$$

where $\lim_{\lambda \rightarrow 0} S_k(l|\lambda) = S_k(l)$,

and

$$\begin{aligned} &\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{\mathfrak{h}_1}{\lambda} (x_1 + \dots + x_r + \mathfrak{h}_2 x)} (1+\lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda}} y d\mu_0(x_1) \dots d\mu_0(x_m) \\ &= \left(\frac{\mathfrak{h}_1 \log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{\mathfrak{h}_1}{\lambda}} - 1} \right)^m (1+\lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} x} (1+\lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} y} \\ &= \sum_{l=0}^{\infty} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} (\mathfrak{h}_2 x, \mathfrak{h}_2^2 y) \frac{(\mathfrak{h}_1 t)^l}{l!}, \end{aligned} \quad (3.5)$$

where, $\lambda, t \in \mathbb{H}$ such that $|\lambda t|_p < p^{-\frac{1}{p-1}}$.

Theorem 3.1. For $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$ and $m \geq 1$, the following symmetry identity holds:

$$\begin{aligned} &\sum_{s=0}^l \binom{l}{s} \mathfrak{h}_1^{l-s-1} \mathfrak{h}_2^s \sum_{j=0}^s \binom{s}{j} {}_H B_{l-s, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} (\mathfrak{h}_2 x, \mathfrak{h}_2^2 \mathcal{Z}) \\ &\times S_j \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) B_{s-j, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)} (\mathfrak{h}_1 y) \end{aligned}$$

$$\begin{aligned}
&= \sum_{s=0}^l \binom{l}{s} \mathfrak{h}_1 \mathfrak{h}_2^{l-s-1} \mathfrak{h}_1^s \sum_{j=0}^s \binom{s}{j} {}_H B_{l-s, \frac{\lambda}{\mathfrak{h}_2}}^{(m)}(\mathfrak{h}_1 x, \mathfrak{h}_1^2 \mathcal{Z}) \\
&\quad \times S_j \left(\mathfrak{h}_2 - 1 \middle| \frac{\lambda}{\mathfrak{h}_1} \right) B_{s-j, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y). \tag{3.6}
\end{aligned}$$

Proof. We start with the integral identity

$$\begin{aligned}
I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2) &= \frac{\int_{\mathbb{Z}_p^{(m)}} (1 + \lambda t)^{\frac{\mathfrak{h}_1}{\lambda}(x_1 + \dots + x_m + \mathfrak{h}_2 x)} (1 + \lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} \mathcal{Z}} d\mu_0(x_1) \dots d\mu_0(x_m)}{\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} x} d\mu_0(x)} \\
&\quad \times \int_{\mathbb{Z}_p^{(m)}} (1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda}(x_1 + \dots + x_m + \mathfrak{h}_1 y)} d\mu_0(x_1) \dots d\mu_0(x_m), \tag{3.7}
\end{aligned}$$

which upon using (1.4), gives

$$\begin{aligned}
I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \left(\frac{\mathfrak{h}_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_1}{\lambda}} - 1} \right)^m \frac{(1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda}(x+y)} (1 + \lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} \mathcal{Z}}}{\mathfrak{h}_1 \mathfrak{h}_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}} \\
&\quad \times \left(\frac{\mathfrak{h}_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda}} - 1} \right)^m \left((1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda}} - 1 \right).
\end{aligned}$$

It is clear that $I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda)$ is symmetric in \mathfrak{h}_1 and \mathfrak{h}_2 .

Now, using (3.4) and (3.5) together with the symmetry of $I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda)$, we get

$$\begin{aligned}
I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \left[\sum_{l=0}^{\infty} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)}(\mathfrak{h}_2 x, \mathfrak{h}_2^2 \mathcal{Z}) \frac{\mathfrak{h}_1^l t^l}{l!} \right] \left[\sum_{j=0}^{\infty} S_j \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) \frac{\mathfrak{h}_2^j t^j}{j!} \right] \\
&\quad \times \left[\sum_{s=0}^{\infty} B_{s, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \frac{\mathfrak{h}_2^s t^s}{s!} \right] \cdot \frac{1}{\mathfrak{h}_1} \\
I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \sum_{l=0}^{\infty} \left[\sum_{s=0}^l \binom{l}{s} \mathfrak{h}_1^{l-s-1} \mathfrak{h}_2^s \sum_{j=0}^s \binom{s}{j} {}_H B_{l-s, \frac{\lambda}{\mathfrak{h}_1}}^{(m)}(\mathfrak{h}_2 x, \mathfrak{h}_2^2 \mathcal{Z}) \right. \\
&\quad \left. \times S_j \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) B_{s-j, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \right] \frac{t^l}{l!}. \tag{3.8}
\end{aligned}$$

Similarly, (3.7) can also be written as

$$\begin{aligned}
I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \sum_{l=0}^{\infty} \left[\sum_{s=0}^l \binom{l}{s} \mathfrak{h}_2^{l-s-1} \mathfrak{h}_1^s \sum_{j=0}^s \binom{s}{j} {}_H B_{l-s, \frac{\lambda}{\mathfrak{h}_2}}^{(m)}(\mathfrak{h}_1 x, \mathfrak{h}_1^2 \mathcal{Z}) \right. \\
&\quad \left. \times S_j \left(\mathfrak{h}_2 - 1 \middle| \frac{\lambda}{\mathfrak{h}_1} \right) B_{s-j, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y) \right] \frac{t^l}{l!}. \tag{3.9}
\end{aligned}$$

Comparing the coefficients of $\frac{t^l}{l!}$ in (3.8) and (3.9), we obtain the required symmetry identity.

□

Theorem 3.2. For $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$ and $m \geq 1$, the following symmetry identity holds:

$$\begin{aligned} & \sum_{l=0}^n \binom{n}{l} \mathfrak{h}_1^{l-1} \mathfrak{h}_2^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \sum_{i=0}^{\mathfrak{h}_1-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i, \mathfrak{h}_2^2 \mathcal{Z} \right) \\ &= \sum_{l=0}^n \binom{n}{l} \mathfrak{h}_2^{l-1} \mathfrak{h}_1^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y) \sum_{i=0}^{\mathfrak{h}_2-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_2}}^{(m)} \left(\mathfrak{h}_1 x + \frac{\mathfrak{h}_1}{\mathfrak{h}_2} i, \mathfrak{h}_1^2 \mathcal{Z} \right). \quad (3.10) \end{aligned}$$

Proof. We begin with

$$\begin{aligned} I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \left(\frac{\mathfrak{h}_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_1}{\lambda}} - 1} \right)^m (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} (x+y)} (1 + \lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} \mathcal{Z}} \\ &\quad \times \frac{(1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda}} - 1}{(1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda} \mathcal{Z}} - 1} \left(\frac{\mathfrak{h}_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda}} - 1} \right)^{m-1} \frac{1}{\mathfrak{h}_1} \\ &= \frac{1}{\mathfrak{h}_1} \left(\frac{\mathfrak{h}_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_1}{\lambda}} - 1} \right)^m (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} x} (1 + \lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} \mathcal{Z}} \\ &\quad \times \left(\sum_{i=0}^{\mathfrak{h}_1-1} (1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda} i} \right) \left(\frac{\mathfrak{h}_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda}} - 1} \right)^{m-1} (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} y} \\ &= \frac{1}{\mathfrak{h}_1} \left(\frac{\mathfrak{h}_1 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_1}{\lambda}} - 1} \right)^m \sum_{i=0}^{\mathfrak{h}_1-1} (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} x + \frac{\mathfrak{h}_2}{\lambda} i} (1 + \lambda t^2)^{\frac{\mathfrak{h}_1^2 \mathfrak{h}_2^2}{\lambda} \mathcal{Z}} \\ &\quad \times \left(\frac{\mathfrak{h}_2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{(1 + \lambda t)^{\frac{\mathfrak{h}_2}{\lambda}} - 1} \right)^{m-1} (1 + \lambda t)^{\frac{\mathfrak{h}_1 \mathfrak{h}_2}{\lambda} y} \\ &= \frac{1}{\mathfrak{h}_1} \left[\sum_{i=0}^{\mathfrak{h}_1-1} \sum_{l=0}^{\infty} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i, \mathfrak{h}_2^2 \mathcal{Z} \right) \mathfrak{h}_1^l \frac{t^l}{l!} \right] \\ &\quad \times \left[\sum_{n=0}^{\infty} B_{n, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \mathfrak{h}_2^n \frac{t^n}{n!} \right] \\ I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) &= \sum_{n=0}^{\infty} \left[\sum_{l=0}^n \binom{n}{l} \mathfrak{h}_1^{l-1} \mathfrak{h}_2^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \right. \\ &\quad \times \left. \sum_{i=0}^{\mathfrak{h}_1-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i, \mathfrak{h}_2^2 \mathcal{Z} \right) \right] \frac{t^n}{n!}. \quad (3.11) \end{aligned}$$

Likewise, we get

$$I^{(m)}(\mathfrak{h}_1, \mathfrak{h}_2 | \lambda) = \sum_{n=0}^{\infty} \left[\sum_{l=0}^n \binom{n}{l} \mathfrak{h}_2^{l-1} \mathfrak{h}_1^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y) \right. \\ \left. \times \sum_{i=0}^{\mathfrak{h}_2-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_2}}^{(m)} \left(\mathfrak{h}_1 x + \frac{\mathfrak{h}_1}{\mathfrak{h}_2} i, \mathfrak{h}_1^2 \mathcal{Z} \right) \right] \frac{t^n}{n!}. \quad (3.12)$$

Comparing the coefficients of $\frac{t^n}{n!}$ in (3.11) and (3.12), we obtain the required symmetry identity. \square

Remark 3.3. On putting $\mathcal{Z} = 0$ in (3.6) and (3.10), the following results involving degenerate Bernoulli polynomials are deduced (see [16]).

Corollary 3.4. For $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$, $n \geq 0$ and $m \geq 1$, one has

$$\sum_{j=0}^n \binom{n}{j} \mathfrak{h}_1^{n-j-1} \mathfrak{h}_2^j \sum_{k=0}^j \binom{j}{k} B_{n-j, \frac{\lambda}{\mathfrak{h}_1}}^{(m)}(\mathfrak{h}_2 x) S_k \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) B_{j-k, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \\ = \sum_{j=0}^n \binom{n}{j} \mathfrak{h}_2^{n-j-1} \mathfrak{h}_1^j \sum_{k=0}^j \binom{j}{k} B_{n-j, \frac{\lambda}{\mathfrak{h}_2}}^{(m)}(\mathfrak{h}_1 x) S_k \left(\mathfrak{h}_2 - 1 \middle| \frac{\lambda}{\mathfrak{h}_1} \right) B_{j-k, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y). \quad (3.13)$$

and

$$\sum_{l=0}^n \binom{n}{l} \mathfrak{h}_1^{l-1} \mathfrak{h}_2^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_2}}^{(m-1)}(\mathfrak{h}_1 y) \sum_{i=0}^{\mathfrak{h}_1-1} B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i \right) \\ = \sum_{l=0}^n \binom{n}{l} \mathfrak{h}_2^{l-1} \mathfrak{h}_1^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_1}}^{(m-1)}(\mathfrak{h}_2 y) \sum_{i=0}^{\mathfrak{h}_2-1} B_{l, \frac{\lambda}{\mathfrak{h}_2}}^{(m)} \left(\mathfrak{h}_1 x + \frac{\mathfrak{h}_1}{\mathfrak{h}_2} i \right). \quad (3.14)$$

Remark 3.5. On taking $m = 1$, in (3.6) and (3.10), we have the following corollary.

Corollary 3.6. For $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$, we have

$$\sum_{j=0}^n \binom{n}{j} \mathfrak{h}_1^{n-j-1} \mathfrak{h}_2^j \sum_{k=0}^j \binom{j}{k} {}_H B_{n-j, \frac{\lambda}{\mathfrak{h}_1}}(\mathfrak{h}_2 x, \mathfrak{h}_2^2 \mathcal{Z}) \\ \times S_k \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) B_{j-k, \frac{\lambda}{\mathfrak{h}_2}}(\mathfrak{h}_1 y) \\ = \sum_{j=0}^n \binom{n}{j} \mathfrak{h}_2^{n-j-1} \mathfrak{h}_1^j \sum_{k=0}^j \binom{j}{k} {}_H B_{n-j, \frac{\lambda}{\mathfrak{h}_2}}(\mathfrak{h}_1 x, \mathfrak{h}_1^2 \mathcal{Z}) \\ \times S_k \left(\mathfrak{h}_2 - 1 \middle| \frac{\lambda}{\mathfrak{h}_1} \right) B_{j-k, \frac{\lambda}{\mathfrak{h}_1}}(\mathfrak{h}_2 y). \quad (3.15)$$

and

$$\begin{aligned} & \sum_{l=0}^n \binom{n}{l} \mathfrak{h}_1^{l-1} \mathfrak{h}_2^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_2}}(\mathfrak{h}_1 y) \sum_{i=0}^{\mathfrak{h}_1-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_1}} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i, \mathfrak{h}_2^2 \mathcal{Z} \right) \\ &= \sum_{l=0}^n \binom{n}{l} \mathfrak{h}_2^{l-1} \mathfrak{h}_1^{n-l} B_{n-l, \frac{\lambda}{\mathfrak{h}_1}}(\mathfrak{h}_2 y) \sum_{i=0}^{\mathfrak{h}_2-1} {}_H B_{l, \frac{\lambda}{\mathfrak{h}_2}} \left(\mathfrak{h}_1 x + \frac{\mathfrak{h}_1}{\mathfrak{h}_2} i, \mathfrak{h}_1^2 \mathcal{Z} \right). \end{aligned} \quad (3.16)$$

For the proof of these identities refer to Haroon and Khan [6].

Remark 3.7. Further, on taking $y = 0$ in (3.13) and (3.14), we get the following pair of identities:

Corollary 3.8. For $\mathfrak{h}_1, \mathfrak{h}_2 \in \mathbb{N}$, we have

$$\begin{aligned} & \sum_{j=0}^n \binom{n}{j} \mathfrak{h}_1^{n-j-1} \mathfrak{h}_2^j B_{n-j, \frac{\lambda}{\mathfrak{h}_1}}^{(m)}(\mathfrak{h}_2 x) S_k \left(\mathfrak{h}_1 - 1 \middle| \frac{\lambda}{\mathfrak{h}_2} \right) \\ &= \sum_{j=0}^n \binom{n}{j} \mathfrak{h}_2^{n-j-1} \mathfrak{h}_1^j B_{n-j, \frac{\lambda}{\mathfrak{h}_2}}^{(m)}(\mathfrak{h}_1 x) S_k \left(\mathfrak{h}_2 - 1 \middle| \frac{\lambda}{\mathfrak{h}_1} \right). \end{aligned} \quad (3.17)$$

and

$$\mathfrak{h}_1^{l-1} \sum_{i=0}^{\mathfrak{h}_1-1} B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(\mathfrak{h}_2 x + \frac{\mathfrak{h}_2}{\mathfrak{h}_1} i \right) = \mathfrak{h}_2^{l-1} \sum_{i=0}^{\mathfrak{h}_2-1} B_{l, \frac{\lambda}{\mathfrak{h}_2}}^{(m)} \left(\mathfrak{h}_1 x + \frac{\mathfrak{h}_1}{\mathfrak{h}_2} i \right). \quad (3.18)$$

Remark 3.9. Moreover, if we take $\mathfrak{h}_2 = 1$ in the resultant identities (3.17) and (3.18), then we get the following equalities:

Corollary 3.10. We have, for $\mathfrak{h}_1 \in \mathbb{N}$

$$B_{n, \lambda}^{(m)}(\mathfrak{h}_1 x) = \sum_{j=0}^n \binom{n}{j} \mathfrak{h}_1^{n-j-1} B_{n-j, \frac{\lambda}{\mathfrak{h}_1}}^{(m)}(x) S_j(\mathfrak{h}_1 - 1 | \lambda). \quad (3.19)$$

and

$$\sum_{i=0}^{\mathfrak{h}_1-1} B_{l, \frac{\lambda}{\mathfrak{h}_1}}^{(m)} \left(x + \frac{1}{\mathfrak{h}_1} i \right) = \mathfrak{h}_1^{1-l} B_{l, \lambda}^{(m)}(\mathfrak{h}_1 x). \quad (3.20)$$

CONCLUDING REMARKS

Several results in the above sections have corroborated the application of p -adic invariant integrals. Furthermore, quite a number of results for higher order special polynomials can be investigated through the aid of this method which can in turn be extended to derive novel relations for the generalized and conventional polynomials.

ACKNOWLEDGMENTS

We express our heartiest gratitude to the referee for his valuable suggestions and comments.

REFERENCES

1. E. T. Bell, Exponential Polynomials, *Ann. of Math.*, **35**, (1934), 258-277.
2. A. Bowers, p -Adic Measures and Bernoulli Numbers, (2004), 32 pp.
3. L. Carlitz's, q -Bernoulli Numbers and Polynomials, *Duke. Math. J.*, **15**(4), (1948), 987-1000.
4. L. Carlitz's, Degenerate Stirling, Bernoulli and Eulerian Numbers, *Util. Math.*, **15**, (1979), 51-88.
5. G. Dattoli, S. Lorenzutta, C. Cesarano, Finite Sums and Generalized Forms of Bernoulli Polynomials, *Rendiconti di Matematica*, **19**, (1999), 385-391.
6. H. Haroon, W. A. Khan, Degenerate Bernoulli Numbers and Polynomials Associated with Degenerate Hermite Polynomials, *Commun. Korean. Math. Soc.*, **33**(2), (2018), 651-669.
7. L. C. Jang, D. S. Kim, T. Kim, p -Adic Integral on \mathbb{Z}_p Associated with Degenerate Bernoulli Polynomials of the Second Kind, *Adv. Differ. Equ.*, **278**(2020), (2020) doi. 10.1186/s13662-020-02746-2.
8. W. A. Khan, Degenerate Hermite-Bernoulli Numbers and Polynomials of the Second Kind, *Prespacetime Journal*, **7**(9), (2016), 1297-1305.
9. W. A. Khan, H. Haroon, On p -Adic Integral for Generalized Degenerate Hermite-Bernoulli Polynomials Attached to χ of Higher Order, *Honam Mathematical J.*, **41**(1), (2019), 117-133.
10. T. Kim, On Degenerate q -Bernoulli Polynomials, *Bull. Korean Math. Soc.*, **53**(4), (2016), 1149-1156.
11. T. Kim, Symmetric Identities for Degenerate Generalized Bernoulli Polynomials, *J. Non-linear. Sci. Appl.*, **9**, (2016), 677-683.
12. T. Kim, A Note on q -Volkenborn Integration, *Preceedings of the Jangjeon Mathematical Society*, **8**(1), (2005), 13-17.
13. T. Kim, On the Symmetries of the q -Bernoulli Polynomials, *Abstr. Appl. Anal.*, **2008**, (2008), 7 pp.
14. T. Kim, D. V. Dolgy, On the Identities of Symmetric for Degenerate Bernoulli Polynomials of Order r , *Adv. studies in Contemp. Math.*, **25**(4), (2015), 457-462.
15. D. S. Kim, T. Kim, Some Identities of Degenerate Special Polynomials, *Open Math.*, **13**, (2015), 280-289.
16. D. S. Kim, T. Kim, D.V. Dolgy, A Note on Degenerate Bernoulli Numbers and Polynomials Associated with p -adic Invariant Integral on \mathbb{Z}_p , *Appl. Math. Comp.*, **259**, (2015), 198-204.

17. D. S. Kim, T. Kim, Daehee Numbers and Polynomials, *Appl. Math. Sciences*, **7**(120), (2013), 5969-5976.
18. D. S. Kim, T. Kim, Identities of Symmetry for Higher-Order q -Bernoulli Polynomials, *J. Comp. Anal. Appl.*, **18**(5), (2015), 1077-1088.
19. T. Kim, H. I. Kwon, G. W. Jang, Symmetric Identities of Higher order Degenerate q -Bernoulli Polynomials, *Adv. studies in Contemp. Math.*, **27**(1), (2017), 31-41.
20. D. S. Kim, T. Kim, S. H. Lee, J. J. Seo, Higher Order Daehee Numbers and Polynomials, *Int. J. Math. Anal.*, **8**(6), (2014), 273-283.
21. H. Özden, I. N. Cangül, Y. Simsek, Remarks on q -Bernoulli Numbers Associated with Daehee Numbers, *Adv. studies in Contemp. Math.(Kyungshang)*, **18**, (2009), 41-48.
22. H. J. Tuentner, A Symmetry of Power Sum Polynomials and Bernoulli Numbers, *Mathematical Association of America*, **108**(3), (2001), 258-261.
23. P. T. Young, Degenerate Bernoulli Polynomials, Generalized Factorial Sums and their Applications, *J. Num. Theory*, **128**(4), (2008), 738-758.
24. I. A. Yurov, On p -Adic Functions Preserving Haar Measure, *Mathematical Notes*, **63**(6), (1998), 1-14.